> A
A & 0l & AF 2 E A A
A S2O0AIE 22 0
M BoANE 29
& 23AIE 22 (Sl & &)
SN P SA(EN) - MBAY - BES 0] &k o4 p/E-E" HlDE2
F 0l Al 2tel 2,406,845 2,339,029 67,816
= 100,000 100,000 0
Al 2,306,845 2,239,029 67,816
AL 2 2,297,255 2,276,895 20,360
= 100,000 100,000 0
Al 2,197,255 2,176,895 20,360
F StAl & 2tel 2,297,255 2,276,895 20,360
= 100,000 100,000 0
Al 2,197,255 2,176,895 20,360
==z 29 1,190,160 1,185,600 4,560
= 100,000 100,000 0
Al 1,090, 160 1,085,600 4,560
201 2et24d] 534,630 530,070 4,560
= 84,940 84,940 0
Al 449,690 445,130 4,560
01 At 2teltl 192,583 188,023 4,560
Oger=EH| 4,560 0 4,560
— FHOIAIAE HUISY 42
380,000 1200 & 4,560 0 4,560
N2t =SdE 29 801,723 785,923 15,800
201 Let249] 500,874 490,074 10,800
01 At 22l 109,062 98,262 10,800
OAMEZSHSHEH AZAE RX22 W=
900,000& 1270 & 10,800 0 10,800
405 XtatE SHI 32,000 27,000 5,000
01 AR ESFH S 32,000 27,000 5,000
OANQZMSHE MI|tM 2| It ZFdl 2
L(HEIANEI , BAUZAIED , BAR LIS
[&D]) 5,000,000& 14! 5,000 0 5,000
HE2LZHI (20 AL 22l Dt) 108,450 62,134 46,316
A2 (20 AL 22l Dt) 46,316 0 46,316
QIHA2IHI (2 HAIL 2t ) 46,316 0 46,316
101 14 dl 46,316 0 46,316
01 2= 46,316 0 46,316
Ooxzuz=ex¢ 46,316 0 46,316
—52Z2fxE 80,4093 » 16«36 46,316 0 46,316
MRS (20AL220) 1,140 0 1,140
8= 1,140 0 1,140
EXz A 1,140 0 1,140
802 BHEt = JIEF 1,140 0 1,140
01 T DEBXStHE= 990 0 990
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(20 Al & 2t2 D)

e - HAS 0l & o p/E-F HIDE2
OB Eo=osty =g % oy
90,0002 990 990
02 Al - CHIBESWE3 150 150
OAES HUANMFABAY XY By
50,0002 150 150
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